## SAVANNAH SOLO FINAL RESULTS #4 REMEMBER THE FALLEN MAY 24, 2025

**TOTAL REGISTERED: 55, WITH TIMES: 53** 

AS	- A St	reet -	Entries:6 Trophies:2	2	Times								Total	Diff
1	AS	152	Justin Dantis	2003 Chevrolet Z5 C06k	46.222	45.376	47.829(1)	45.161	44.543	46.585(1)	44.192		44.192	
2	AS	2	Bill Zorn	2011 Porsche Spyder	52.994(2)	46.972	46.606	46.313	48.038(1)	46.052	46.311		46.052	(1.860)
3	AS	169	Kenny Lee	2016 Porsche Cayman GTS	49.603	48.655	48.360	DNF	46.889	46.572	RRN	46.800	46.572	(0.520)
4	AS	52	Nick Hall	2003 Chevrolet Corvette	DNF	52.559	50.340	49.193	48.791	49.565	50.037		48.791	(2.219)
5	AS	22	Louis Highsmith	2011 Porsche Spyder	DNF	DNF	51.496	51.339	51.426	55.152(1)	DNF		51.339	(2.548)
6	AS	69	(L)Cassidy Talley	2016 Porsche Cayman GTS	DNF	55.325	55.961	53.213	53.200	51.957	54.504(1)		51.957	(0.618)
BS	- B St	reet -	Entries:2 Trophies:1		Times								Total	Diff
1	BS	11	Eric Siegenthaler	2019 BMW M4 - Eric	47.482	46.981	46.979	46.354	46.595	47.067	46.504		46.354	
2	BS	17	(L)Amy Siegenthaler	2019 BMW M4 - Amy	54.461	52.399	51.755	51.333	51.497	50.014	49.444		49.444	(3.090)
DS	- D St	reet -	Entries:1 Trophies:1		Times								Total	Diff
1	DS	11	Nicholas Fossett	2020 Hyundai Veloster N	56.225	57.564	54.353	53.822	53.789	53.648	51.376		51.376	
ES	- E Str	eet -	Entries:1 Trophies:1		Times								Total	Diff
1	ES	11	Jakob Stepp	1990 Mazda Miata	DNF	54.053	94.920	54.771	56.029				54.053	
FS	- F Str	eet -	Entries:4 Trophies:2		Times								Total	Diff
1	FS	1	Jacob Kestenbaum	2020 BMW M240i	51.126	55.182(2)	RRN	51.294(1)	48.433	50.303(1)	48.748	48.754	48.433	
2	FS	8	Rafael Shimov	2025 BMW M240i	54.544	51.439	49.964	53.660(1)	49.681	50.140	50.009		49.681	(1.248)
3	FS	97	Willard (Bill) Hoyle	2024 Ford Mustang GT	DNF	52.877	52.065	52.412	53.776(1)	51.279	50.470		50.470	(0.789)
4	FS	7	Tommy Ellison	BMW M235i Gran Coupe	53.397	52.824	51.949	52.069	51.299	63.363(6)	52.197		51.299	(0.829)
GS	- G St	reet -	Entries:3 Trophies:1	1	Times								Total	Diff
1	GS	16	Jonathan Dove	2024 Volkswagen GTI	50.426	48.598	47.847	50.878(1)	47.521				47.521	
2	GS	9	Kevin Johnson	2024 Volkswagen GTI	55.141	54.005	56.343	53.564	52.948	52.753	RRN	52.514	52.514	(4.993)
3	GS	67	Jerry Pullen	2016 Mini Cooper S	59.217	DNF	57.618	56.533	58.825	57.464	56.189		56.189	(3.675)
HS	- H St	reet -	Entries:1 Trophies:1		Times								Total	Diff
1	HS	86	Dan Doyle	2025 Mazda Mazda3 Hatch	54.119	54.766	53.651	52.910	53.564	53.394	52.715		52.715	
SS	C - Sol	o Sp	ec Coupe - Entries:1	Trophies:1	Times								Total	Diff
1	SSC	97	Joshua Thorson	2014 Subaru BRZ	DNF	48.678(1)	47.499	45.703	45.640	45.447	45.889		45.447	
ss	T - Sup	er S	treet Touring - Entrie	s:3 Trophies:1	Times								Total	Diff
1	SST	185	Paul Aron	2016 Alfa Romeo 4C Spider	DNF	48.202	47.512	53.957(2)	47.554	49.377(1)	48.681		47.512	
2	SST	13	Michael Tepley	2002 Porsche 911	DNF	48.636	49.209	48.018	48.416	47.879	47.895		47.879	(0.367)
3	SST	1	Stuart Kestenbaum	2020 BMW M240i	54.314(2)	54.014(2)	51.731	54.093(1)	53.130(1)	51.078	50.260		50.260	(2.381)
AS	T - A S	treet	Touring - Entries:1 1	Trophies:1	Times								Total	Diff
1	AST	72	Lee Long	2017 Fiat 124 Spider Abarth	DNF	49.284	48.417	49.375	48.256	DNF	48.295		48.256	
BS	T - B S	treet	Touring - Entries:2 1	Trophies:1	Times								Total	Diff
1	BST	24	Jaxon Arraj	2016 Mini Cooper JCW	48.552	47.499	46.216	46.612	45.953	50.283(2)	46.686		45.953	
2	BST	33	(L)Laura Johnson	2006 Porsche Cayman S	DNF	49.415	49.743	DNF	48.663	48.667	DNF		48.663	(2.710)
cs	T-CS	treet	Touring - Entries:3 1	Frophies:1	Times								Total	Diff
1	CST	81	Jan Pogorzelski	1994 Mazda Miata	49.473	48.731	48.413	48.218	47.182	78.724(3)	60.071(1)		47.182	
2	CST	54	John Rhoden	2012 Mazda MX-5 Miata	DNF	52.244	50.437	50.632	49.913	49.312	51.792(1)		49.312	(2.130)
3	007	4	Edward Kivett	1996 BMW Z3	DNF	58.075	DNF	56.070	55.008	56.604	56.189		55.008	(5.696)
_	CST	∟ '											Total	Diff
DS			Touring - Entries:2 1	Frophies:1	Times								TOTAL	
DS 1		treet	Touring - Entries:2 1 William Doran	7rophies:1 2009 BMW 328i	<b>Times</b> 50.515	RRN	56.286(4)	47.760	54.575(2)	50.795(2)	49.159	47.437	47.437	
	T - D S	treet 12		·		RRN RRN	56.286(4) 52.991	47.760 54.226(1)			49.159 54.568(2)			(3.354)
1 2	T - D S DST DST	<b>treet</b> 12 49	William Doran	2009 BMW 328i 2013 Subaru BRZ	50.515		` '						47.437	
1 2	T - D S DST DST	12 49 treet	William Doran  Caleb Patrick	2009 BMW 328i 2013 Subaru BRZ	50.515 55.927		` '						47.437 50.791	(3.354)
1 2	T-DS DST DST T-ES	12 49 <b>treet</b>	William Doran Caleb Patrick Touring - Entries:2 T	2009 BMW 328i 2013 Subaru BRZ Tophies:1	50.515 55.927 Times	RRN	52.991	54.226(1)	50.791	55.601(2)	54.568(2) 51.676(1)		47.437 50.791 Total	(3.354)
1 2 ES	DST DST T-ES EST	12 49 <b>treet</b> 15	William Doran Caleb Patrick Touring - Entries:2 T Brian Garman	2009 BMW 328i 2013 Subaru BRZ  rophies:1 1991 Mazda Miata 2010 Kia Forte 2.4L 6MT	50.515 55.927 <b>Times</b> 49.065	RRN 50.845(1)	52.991 48.368	54.226(1) 48.076	<b>50.791</b> 48.445	55.601(2) 47.735	54.568(2) 51.676(1)		47.437 50.791 Total 47.735	(3.354) Diff
1 2 ES	DST DST T-ES EST	12 49 <b>treet</b> 15 19	William Doran Caleb Patrick Touring - Entries:2 T Brian Garman (L)Elica Sim	2009 BMW 328i 2013 Subaru BRZ  rophies:1 1991 Mazda Miata 2010 Kia Forte 2.4L 6MT	50.515 55.927 <b>Times</b> 49.065 DNF	RRN 50.845(1)	52.991 48.368	54.226(1) 48.076	<b>50.791</b> 48.445	55.601(2) 47.735	54.568(2) 51.676(1)		47.437 50.791 Total 47.735 56.683	(3.354) Diff (8.948)

1	CSP	88	Marcus Lo	2002 Mazda Miata	60.217(1)	55.248	53.348	52.861	52.543	51.633	51.947		51.633	
ES	SP - E S	treet	Prepared - Entries:2	Trophies:1	Times								Total	Diff
1	ESP	14	Kristopher Mahon	2008 Infiniti G37S	47.662	47.088	51.076(2)	46.454	46.570	46.368	46.049		46.049	
2	ESP	25	Tyler Schultz	2005 Mini Cooper S	49.154	52.898(2)	48.887	47.450	50.411(1)	48.162	48.093		47.450	(1.401)
FF	- F Pre	pare	d - Entries:2 Trophie	s:1	Times								Total	Diff
1	FP	27	Raymond Talley	1986 Porsche 944	56.929(1)	59.273(1)	51.124	51.021	50.268	51.837(1)	49.585		49.585	
2	FP	72	(L)Kara Talley	1986 Porsche 944	60.247	59.135	60.416	57.007	58.268	57.743	58.516(1)		57.007	(7.422)
SI	/IF - Str	eet N	lodified FWD - Entrie	s:3 Trophies:1	Times								Total	Diff
1	SMF	12	Christopher Written	1992 Honda Civic	DNF	47.102	49.027(1)	46.356	46.607	48.127(1)	46.597		46.356	
2	SMF	84	Chi (Oscar) Kwong	1990 Honda CRX Si	49.723(1)	47.163	DNF	49.959(1)	47.134	47.064	46.619		46.619	(0.263)
3	SMF	13	Oscar Makepeace	1991 Honda Crx	DNF	61.227	59.770	58.286	58.000	57.210	56.992		56.992	(10.373)
SS	SM - Su	per S	treet Modified - Entri	ies:1 Trophies:1	Times								Total	Diff
1	SSM	66	Baxter Keib	1991 Mazda Miata	55.482	52.581	50.780	51.412(1)	52.123(1)	50.508	49.470		49.470	
KI	/I - Kart	Forn	nula 125 - Entries:1 T	rophies:1	Times								Total	Diff
1	KM	11	Nishant Patel	2008 Nissan 350z	69.804	46.211							46.211	
C/	AMT - C	lassi	c American Muscle T	- Entries:2 Trophies:1	Times								Total	Diff
1	CAMT	11	Adam Papka	1965 Ford Mustang	DNF	63.893	52.830	51.176	52.461	RRN	49.822	DNF	49.822	
2	CAMT	87	Shelby Webster	1987 Ford Mustang LX	60.340	58.314	55.910	DNF	53.609	58.744(2)	52.533		52.533	(2.711)
C/	AMC - C	lassi	c American Muscle (	C - Entries:3 Trophies:1	Times								Total	Diff
1	CAMC	12	Carlos Ruiz	2011 Chevrolet Camaro SS	DNF	DNF	62.884	DNF	65.126	54.050	55.208		54.050	
2	CAMC	28	Victor Ruiz	2019 Ford Mustang GT	62.331	57.419	56.043	55.863	54.366	55.349	54.906		54.366	(0.316)
3	CAMC	2	Cameron Ruiz	2011 Chevrolet Camaro SS	61.633	57.467	57.986(1)	58.767(2)	54.709	63.714			54.709	(0.343)
C/	AMS - C	lassi	c American Muscle S	S - Entries:2 Trophies:1	Times								Total	Diff
1	CAMS	107	Jozsef Nemes	2003 Chevrolet Corvette Z06	49.325	48.217	47.919	47.904	47.571	DNF			47.571	
2	CAMS	07	Darren Pickren	2008 Chevrolet Corvette Z06	51.092	DNF	49.634	73.418(4)	52.967(2)	51.266(1)			49.634	(2.063)
X.	A - Xtrer	ne S	treet A - Entries:1 Tro	ophies:1	Times								Total	Diff
1	XA	72	Patrick Boyle	1995 Mitsubishi Eclipse GSX	DNF								No Time	-
XE	3 - Xtrer	ne S	treet B - Entries:2 Tro	ophies:1	Times								Total	Diff
1	ХВ	94	Adrian Jaramillo	1997 Toyota MR2	DNF	DNF	DNF	61.560	60.116	58.366	57.045		57.045	
2	ХВ	11	Derrick Taylor	1986 Toyota MR2	DNF	DNF							No Time	-
χι	J - Extre	eme S	Street Unlimited - Ent	tries:2 Trophies:1	Times								Total	Diff
1	XU	15	Lee Depew	2021 Exomotive Exocet	DNF	48.027	46.661	46.299	DNF				46.299	
2	XU	115	Elias Clayton	2021 Mazda MiataExo Thing	49.684(1)	46.668	47.246	49.378(1)					46.668	(0.369)

Top Times Of Day	Time	Class	#	Driver
Raw time	44.192	AS	152	Justin Dantis
Index	36.448	SSC	97	Joshua Thorson
Street	44.192	AS	152	Justin Dantis
Street Touring	45.953	BST	24	Jaxon Arraj
Street Prepared	46.049	ESP	14	Kristopher Mahon
Prepared	49.585	FP	27	Raymond Talley
Modified	46.211	KM	11	Nishant Patel

<sup>\*\*\*</sup> Bumping Pax Control is active - Bumped classes are auto-paxed

## **PAX TIME RESULTS**

Index Pos.	Pos.	Class	#	Driver	Car	Time	Index	Index Time	Diff.	From 1st
1	1	SSC	97	Joshua Thorson	2014 Subaru BRZ	45.447	0.802	36.448	0.000	0.000
2	1	AS	152	Justin Dantis	2003 Chevrolet Z5 C06k	44.192	0.826	36.503	0.054	0.054
3	1	GS	16	Jonathan Dove	2024 Volkswagen GTI	47.521	0.794	37.732	1.229	1.283

4	1	ВЅ	11	Eric Siegenthaler	2019 BMW M4 - Eric	46.354	0.819	37.964	0.232	1.515
5	2	AS	2	Bill Zorn	2011 Porsche Spyder	46.052		38.039		1.590
6	1	BST	24	Jaxon Arraj	2016 Mini Cooper JCW	45.953		38.279		1.830
7	3	AS	169	Kenny Lee	2016 Porsche Cayman GTS	46.572	0.826	38.468	0.190	2.020
8	1	ESP	14	Kristopher Mahon	2008 Infiniti G37S	46.049	0.840	38.681	0.213	2.233
9	1	DST	12	William Doran	2009 BMW 328i	47.437	0.818	38.803	0.122	2.355
10	1	EST	15	Brian Garman	1991 Mazda Miata	47.735	0.815	38.904	0.101	2.456
11	1	CST	81	Jan Pogorzelski	1994 Mazda Miata	47.182	0.830	39.161	0.257	2.713
12	1	SMF	12	Christopher Written	1992 Honda Civic	46.356	0.850	39.403	0.242	2.954
13	1	FS	1	Jacob Kestenbaum	2020 BMW M240i	48.433	0.817	39.570	0.167	3.121
14	2	SMF	84	Chi (Oscar) Kwong	1990 Honda CRX Si	46.619	0.850	39.626	0.056	3.178
15	1	SST	185	Paul Aron	2016 Alfa Romeo 4C Spider	47.512	0.837	39.768	0.141	3.319
16	2	ESP	25	Tyler Schultz	2005 Mini Cooper S	47.450	0.840	39.858	0.090	3.410
17	2	SST	13	Michael Tepley	2002 Porsche 911	47.879	0.837	40.075	0.217	3.626
18	1	CAMS	107	Jozsef Nemes	2003 Chevrolet Corvette Z06	47.571	0.844	40.150	0.075	3.701
19	1	XU	15	Lee Depew	2021 Exomotive Exocet	46.299	0.869	40.234	0.084	3.785
20	1	AST	72	Lee Long	2017 Fiat 124 Spider Abarth	48.256	0.834	40.246	0.012	3.797
21	4	AS	52	Nick Hall	2003 Chevrolet Corvette	48.791	0.826	40.301	0.056	3.853
22	2	BS	17	(L)Amy Siegenthaler	2019 BMW M4 - Amy	49.444	0.819	40.495	0.193	4.046
23	2	BST	33	(L)Laura Johnson	2006 Porsche Cayman S	48.663	0.833	40.536	0.042	4.088
24	2	XU	115	Elias Clayton	2021 Mazda MiataExo Thing	46.668	0.869	40.554	0.018	4.106
25	2	FS	8	Rafael Shimov	2025 BMW M240i	49.681	0.817	40.589	0.035	4.141
26	1	CAMT	11	Adam Papka	1965 Ford Mustang	49.822	0.821	40.904	0.314	4.455
27	2	CST	54	John Rhoden	2012 Mazda MX-5 Miata	49.312	0.830	40.929	0.025	4.480
28	3	FS	97	Willard (Bill) Hoyle	2024 Ford Mustang GT	50.470	0.817	41.234	0.305	4.785
29	1	HS	86	Dan Doyle	2025 Mazda Mazda3 Hatch	52.715	0.784	41.329	0.095	4.880
30	2	DST	49	Caleb Patrick	2013 Subaru BRZ	50.791	0.818	41.547	0.218	5.099
31	1	DS	11	Nicholas Fossett	2020 Hyundai Veloster N	51.376	0.811	41.666	0.119	5.217
32	2	GS	9	Kevin Johnson	2024 Volkswagen GTI	52.514	0.794	41.696	0.030	5.248
33	2	CAMS	07	Darren Pickren	2008 Chevrolet Corvette Z06	49.634	0.844	41.891	0.195	5.443
34	4	FS	7	Tommy Ellison	BMW M235i Gran Coupe	51.299	0.817	41.911	0.020	5.463
35	3	SST	1	Stuart Kestenbaum	2020 BMW M240i	50.260	0.837	42.068	0.156	5.619
36	5	AS	22	Louis Highsmith	2011 Porsche Spyder	51.339	0.826	42.406	0.338	5.958
37	1	ES	11	Jakob Stepp	1990 Mazda Miata	54.053	0.790	42.702	0.296	6.253
38	6	AS	69	(L)Cassidy Talley	2016 Porsche Cayman GTS	51.957	0.826	42.916	0.215	6.468
39	2	CAMT	87	Shelby Webster	1987 Ford Mustang LX	52.533	0.821	43.130	0.213	6.681
40	1	KM	11	Nishant Patel	2008 Nissan 350z	46.211	0.937	43.300	0.170	6.851
41	1	SSM	66	Baxter Keib	1991 Mazda Miata	49.470	0.878	43.435	0.135	6.986
42	1	FP	27	Raymond Talley	1986 Porsche 944	49.585	0.877	43.486	0.051	7.038
43	1	CSP	88	Marcus Lo	2002 Mazda Miata	51.633	0.859	44.353	0.867	7.904
44	1	CAMC	12	Carlos Ruiz	2011 Chevrolet Camaro SS	54.050	0.825	44.591	0.239	8.143
45	3	GS	67	Jerry Pullen	2016 Mini Cooper S	56.189	0.794	44.614	0.023	8.166
46	2	CAMC	28	Victor Ruiz	2019 Ford Mustang GT	54.366		44.852	0.238	8.403
47	3	CAMC	2	Cameron Ruiz	2011 Chevrolet Camaro SS	54.709		45.135		8.686
48	3	CST	4	Edward Kivett	1996 BMW Z3	55.008		45.657	0.522	9.208
49	2	EST	19	(L)Elica Sim	2010 Kia Forte 2.4L 6MT	56.683		46.197	0.540	9.748
50	1	XB	94	Adrian Jaramillo	1997 Toyota MR2	57.045		48.374	2.178	11.926
51	3	SMF	13	Oscar Makepeace	1991 Honda Crx	56.992				11.995
52	2	FP	72	(L)Kara Talley	1986 Porsche 944	57.007	0.877	49.995	1.552	13.547
53	1	GST	13	Eric Parsons	2011 Subaru WRX	61.879	0.810	50.122	0.127	13.673

## **RAW TIME RESULTS**

Raw Pos.	Pos.	Class	#	Driver	Car	Raw Time	Diff.	From 1st
1		AS	152	Justin Dantis	2003 Chevrolet Z5 C06k	44.192	0.000	0.000

			I				
2	SSC	97	Joshua Thorson	2014 Subaru BRZ	45.447	1.255	1.255
3	BST	24	Jaxon Arraj	2016 Mini Cooper JCW	45.953	0.506	1.761
4	ESP	14	Kristopher Mahon	2008 Infiniti G37S	46.049	0.096	1.857
5	AS	2	Bill Zorn	2011 Porsche Spyder	46.052	0.003	1.860
6	KM	11	Nishant Patel	2008 Nissan 350z	46.211	0.159	2.019
7	XU	15	Lee Depew	2021 Exomotive Exocet	46.299	0.088	2.107
8	BS	11	Eric Siegenthaler	2019 BMW M4 - Eric	46.354	0.055	2.162
9	SMF	12	Christopher Written	1992 Honda Civic	46.356	0.002	2.164
10	AS	169	Kenny Lee	2016 Porsche Cayman GTS	46.572	0.216	2.380
11	SMF	84	Chi (Oscar) Kwong	1990 Honda CRX Si	46.619	0.047	2.427
12	XU	115	Elias Clayton	2021 Mazda MiataExo Thing	46.668	0.049	2.476
13	CST	81	Jan Pogorzelski	1994 Mazda Miata	47.182	0.514	2.990
14	DST	12	William Doran	2009 BMW 328i	47.437	0.255	3.245
15	ESP	25	Tyler Schultz	2005 Mini Cooper S	47.450	0.013	3.258
16	SST	185	Paul Aron	2016 Alfa Romeo 4C Spider	47.512	0.062	3.320
17	GS	16	Jonathan Dove	2024 Volkswagen GTI	47.521	0.009	3.329
18	CAMS	107	Jozsef Nemes	2003 Chevrolet Corvette Z06	47.571	0.050	3.379
19	EST	15	Brian Garman	1991 Mazda Miata	47.735	0.164	3.543
20	SST	13	Michael Tepley	2002 Porsche 911	47.879	0.144	3.687
21	AST	72	Lee Long	2017 Fiat 124 Spider Abarth	48.256	0.377	4.064
22	FS	1	Jacob Kestenbaum	2020 BMW M240i	48.433	0.177	4.241
23	BST	33	(L)Laura Johnson	2006 Porsche Cayman S	48.663	0.230	4.471
24	AS	52	Nick Hall	2003 Chevrolet Corvette	48.791	0.128	4.599
25	CST	54	John Rhoden	2012 Mazda MX-5 Miata	49.312	0.521	5.120
26	BS	17	(L)Amy Siegenthaler	2019 BMW M4 - Amy	49.444	0.132	5.252
27	SSM	66	Baxter Keib	1991 Mazda Miata	49.470	0.026	5.278
28	FP	27		1986 Porsche 944	49.585	0.115	5.393
29	CAMS	07	Darren Pickren	2008 Chevrolet Corvette Z06	49.634		5.442
30	FS	8		2025 BMW M240i	49.681		5.489
31	CAMT	11	I	1965 Ford Mustang	49.822		5.630
32	SST	1	Stuart Kestenbaum	2020 BMW M240i	50.260	0.438	6.068
33	FS	97	I	2024 Ford Mustang GT	50.470		6.278
34		49		2013 Subaru BRZ		0.210	
	DST				50.791		6.599
35	FS	7	Tommy Ellison	BMW M235i Gran Coupe	51.299		7.107
36	AS	22	<u> </u>	2011 Porsche Spyder	51.339	0.040	7.147
37	DS	11	Nicholas Fossett	2020 Hyundai Veloster N	51.376		7.184
38	CSP		Marcus Lo	2002 Mazda Miata	51.633		7.441
39	AS	69	.,	2016 Porsche Cayman GTS	51.957	0.324	7.765
40	GS	9	Kevin Johnson	2024 Volkswagen GTI	52.514		8.322
41	CAMT	87	Shelby Webster	1987 Ford Mustang LX	52.533		8.341
42	HS	86	Dan Doyle	2025 Mazda Mazda3 Hatch	52.715	0.182	8.523

43	CAMC	12	Carlos Ruiz	2011 Chevrolet Camaro SS	54.050	1.335	9.858
44	ES	11	Jakob Stepp	1990 Mazda Miata	54.053	0.003	9.861
45	CAMC	28	Victor Ruiz	2019 Ford Mustang GT	54.366	0.313	10.174
46	CAMC	2	Cameron Ruiz	2011 Chevrolet Camaro SS	54.709	0.343	10.517
47	CST	4	Edward Kivett	1996 BMW Z3	55.008	0.299	10.816
48	GS	67	Jerry Pullen	2016 Mini Cooper S	56.189	1.181	11.997
49	EST	19	(L)Elica Sim	2010 Kia Forte 2.4L 6MT	56.683	0.494	12.491
50	SMF	13	Oscar Makepeace	1991 Honda Crx	56.992	0.309	12.800
51	FP	72	(L)Kara Talley	1986 Porsche 944	57.007	0.015	12.815
52	ХВ	94	Adrian Jaramillo	1997 Toyota MR2	57.045	0.038	12.853
53	GST	13	Eric Parsons	2011 Subaru WRX	61.879	4.834	17.687